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Listening - Part One

1 mark for ea

N hAEWNE

ch correct answer. Total 8 marks

(c) At least the lawn will benefit.

(c) Idon’t know. I'll go and see.

(a) It certainly could. It is filthy.

(a) In the manager’s office.

(b) Yes, | want to learn to speak Spanish.
(c) Yes please, that would be nice.

(a) Isn’t your central heating working?
(b) I disagree. | love my phone.

Listening - Part Two A

1 mark for ea

9.

10
11
12
13
14

ch correct answer. Total 6 marks

(c) Check that Lia’s parents are fully behind Lia becoming a footballer.
. (b) Mrs. Markland
. (d) A short career
. (b) She is enthusiastic about it.
. (@) An apprenticeship
. (c) Sign the contract

Listening - Part Two B

1 mark for ea

15
16
17
18
19
20

ch correct answer. Total 6 marks

. (c) Both the gardeners and the wildlife benefit.

. (d) Being too tidy

. (b) The seven-spot ladybird

. (d) Brimstone

. (@) Have plants in your garden to attract wildlife.
. (c) Newt

Listening - Part Three

1 point for each correct answer. Total 10 points

21
22
23
24
25

. (c) Overfishing

. (b) Mining

. (@) Ancient woodlands are full of biodiversity
. (d) 10%

. (b) Entire forests bombed out of existence
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26. (c) 15 million

27. (@) The Netherlands

28. (b) Man and domesticated animals
29. (d) Cows

30. (d) We should find an alternative

Listening total _ /30
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Reading — Part One

1 mark for ea

31
32
33
34
35
36

ch correct answer. Total 6 marks

. (d) Line 4

. (c) Line 8

. (c) Line 14
. (b) Line 15
. (@) Line 17
. (b) so

Reading — Part Two

1 mark for ea

37.
38.
39.
40.
41.
42.
43.
44.

ch correct answer. Total 8 marks

(d) The things you buy

(d) How old some information found online is.

(b) He had been really unkind.

(a) Companies charge a high fee for removing data.
(a) They are time consuming.

(d) His house was sold on a website.

(c) The belief that it is unlikely to happen to us.

(d) She hadn’t considered this an issue before.

Reading — Part Three

1 mark for each correct answer. Total 8 marks

45.
46.
47.
48.
49.
50.
51.
52.

(d) Clean her home.

(b) It wasn’t very memorable.

(b) She had forgotten that it was going to happen.
(c) It stopped her concentrating.

(a) Vehicles reacting to emergencies.

(b) Trouble sleeping.
(d) We should become more tolerant.

Reading — Part Four

1 mark for each correct answer. Total 8 marks

53
54
55
56
57

. (d) People rarely succeed with this activity.

. (a) It was unanticipated.

. (d) He was so stunned that he was speechless.

. (c) were initially slow to react.

. (a) Being able to take part in the entire investigation.

(c) They don’t give enough attention to the impact of noise.
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58. (b) The fact that possession does not mean ownership.

59. (d) There was an initial rush of people out looking for fossils.
60. (d) the idea of a childhood dream coming true.

Reading total /30

Weriting Task — Part One
Total 15 marks
Writing Task — Part Two
Total 15 marks

Writing total __/30



